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These two modes are in parallel, so the most eff icient mode is the important 

one When I f irst wro te the solution to this problem, I w ro te that one wou ld 

compute Q at the surface for each process, and the mode w i th the larger value 

of Q is the important mode. I gave ful l credit for this answer. Actually, though 

Q at the surface is control led by the generation process in the spher: rQ - [(4/3) 

TC S ] must be the heat transfer rate at the surface for each process if solved 

for by itself (as it is in problem 2). The more eff icient process would accomplish 

this heat transfer w i th a lower temperature a t t h e sphere surface (T(r-R)). 

Thus one would compute the temperature at the sphere surface, for each 

mode separately, and the mode w i th the lower surface temperature is the 

important mode. 
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